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AMINATIONS, APRIL/MAY—2011
REGULATIONS 2007
FIFTH SEMESTER

ME 1305 — APPLIED HYDRAULICS AND PNEUMATICS

MECHANICAL ENGINEERING

Time: Three Hours Maximum:100 marks

8.

9.

ANSWER ALl QUESTIONS
PART=—A (10x2=20 marks)

Mention the four primary functions of a hydraulic fluid.
State two applications of Pascal's law.

How are gear pumps classified?

How is velocity of the hydraulic actuator calculated?

What are the three basic types of accumulators used in
hydraulic systems?

What is the use of regenerative circuit?
What is the use of bleed-off circuit?
Write about leakage testing of air cylinders.

What is ladder diagram?

10. What is servo valve?
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PART-B (5x16=8) marks)

() What is the basic consideration in the design of

a hydraulic civcuit? (8)

(i)  Explain the hydraulic press circuit in detail.(8)

Or

Explain the losses in pipes. valves and Fittings. (16)

A pump has a displacement volume of 0.0819x10™ m3
1t delivers 0.0758 m* /min at 1000rpm at 67 bar if the
prime mover input torque is 100 N- m.

() What is the overall efficiency?

(i) What is the theoretical torque required to

operate the pump (18)

Or

Explain the working principle of external gear pump

and determine its performance Measure. (16)

A double acting cylinder is hooked up in regenerative
crcuit as shown in fig.1. The relief setting is
105 bars. The piston area is 130 em? and rod area is
65 cm? If the pump flow is 0.001¢ mYs, find the
oylinder speed and lond carrying capacity for

2
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Or
'~ Briefly explain on Weight loaded and spring type of
accumulators. (16)

(i} Discuss the working principle of an air

€COMPTessor. 10y

(i) Discuss the function of the FRL unit. (6)

Or

Explain with neat block diagram an air pilot control

circuit for a double acting cylinder. (16)



[image: image5.png]5.

()

(b)

(i) Explain with block diagram the components

present in a PLC and give therr functions. [

(i) What is cascade control? Explain giving

suitable example circuit? {
Or

Explain the hydre mechanical servo system with

suitable application. [¢




